Calculer les pourcentages de décimales

Nom: Date: Note:
3.14 x 30% = 0.43 x 40% =
5.25 x 60% = 1.51 x30% =
5.19 x 60% = 0.91 x70% =
4.39 x 10% = 2.03 x 80% =
4.3 x30% = 0.01 x70% =
6.42 x 60% = 5.83 x90% =
0.04 x 20% = 2.77 x30% =
6.82 x70% = 4.71 x 40% =
6.65 x 20% = 9.51 x90% =
6.84 x 10% = 542 x770% =
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Calculer les pourcentages de décimales

Nom:

3.14 x 30% = 0.942

5.25 x60% = 3.15

5.19 x60% = 3.114

4.39 x 10% = 0.439

4.3 x30% = 1.29

6.42 x 60% = 3.852

0.04 x 20% = 0.008

6.82 x70% = 4.774

6.65 x 20% = 1.33

6.84 x 10% = 0.684

Date:

0.43 x 40% = 0.172

1.51 x 30% = 0.453

0.91 x70% = 0.637

2.03 x 80% = 1.624

0.01 x70% = 0.007

5.83 x90% = 5.247

277 x30% = 0.831

4.71 x 40% = 1.884

9.51 x90% = 8.559

5.42 x70% = 3.794
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